B4 REH AR RN E T5E (FHEEMR) DEHBRIICOVT

OBREMRAABHEDOHR

(B4 : kg-CO2 CREMRARBHE., BEOH) )

mEMNRAT AFHEOHR

SHTEE | SM2FEE | SM3EE | M4 EE | SNSFE | 56 F£E 5,200,000 047
BEWRAREHE 6,681,826/ 7,096,857 7,387,153 6,527,952 8,577,868 6,700,000
HEAEFF R 100% 106% 111% 98% 128% £200,000 / 0.42
B LB 100% 106% 104% 88% 131% 7,700,000 037
ZEMbiR BRI 0.334 0.34 0.362 0.311 0.434 7,200,000 )
Biz 6,681,826/ 6,615,008 6,548,190 6,481,372 6,414,554 6,347,735 6,700,000 - —— — 0.32
X% 6 BIE 5 %BEA (6,347,735kg-CO2) 6,200,000 — ===
5,700,000
OFBRIHHE (EfI @ kg-CO2) 5,200,000 0-22
— SMTEE SM2EE HSH3EE SMIEE HSHSEE SMeEE
SHTEE | SM2FE | SMI3EE | SMNIEE | SO FE | $M6 FE
i I 73.540 70,779 64,741 64,163 61.296 —EEESAGFHE  —m— B ZBALR TR
% B 117,554 118,446 113,823 110,248 109,737
o ONG 0 0 0 0 0 EERIEHE
ETE 3,688 3,356 3,350 3,292 3,318 Sl
i 66,713 56,794 57,552 52,147 47,349 2% REfkSes
= LPG 47,894 40,189 37,851 45,070 46,188 19%
= #HHH R 983,678 1,466,630 1,421,078 1,309,748 | 1,522,711
. HY v 0 139 232 139 238
s T3 0 0 0 0 2069
. B 569 967 377 620 827
- ASEH 55,818 0 0 0 0
# LPG 0 0 0 0 0
#HHH R 0 0 0 0 0
B % 5,032,243 5,043,394 5,401,632 4,660,510 6,511,860 76%
5 Zoft 0 0 0 0 0
— M BEREY 300,129 296,163 286,517 282,015 272,275
[ 5 FEDER]
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AT AEE | SM2EE ST3GE  AM4GE | ST EE | M6 aE BRALIR BBEHR B ARE (ML 22 EAER bﬂi‘éfo BEHAREAN. 031105
—BEZ (CO2) 6374758 6792819 7.092.895 6.238579  8.297.629 0434ICEF & > 1-HER. BIEE K1,851,350kg-CO2DIBNN & 22 W) F L7z, HEHREK
x2v (CH4) 3111 4131 4012 3748 4205 DEBEHNZELTHY FTH. BROEAELZRST I EIHMRNTHD -0, 5
—B{t—2% (N20) 303,957 299,907 290,246 285,625 276,034 Bz, BACHBEHOML, BEAEIXLF-—OBASE, BAEMENZ LN
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